Unit 3 Lecture 2 Slide 7


To resolve the N:M relationship of the previous slide, we need to find a new intersection entity and two new 1:N relationships.  There will be a new relationship between the new intersection entity and the customer and product entities.  The current slide shows the new intersection entity and its attributes.  The new entity has been called order. The UID of this entity is a composite UID made up of the new attribute order and the UID of the customer entity.  Notice that we have indicated this using the UID bar.  


In this slide we also find the presence of a new N:M relationship.  This relationship needs to be resolved also.

